
1

△ABCにおいて辺 BCの中点をM とする．
#   »

AB · #   »

AC = 5，| #     »

AM| =
√
51
2
のとき，

| #   »

BC| =
√
キク である．
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【答】
キク

31

【解答】
#   »
AB =

#»

b ,
#   »
AC =

#»
c とおく．

Mは辺 BCの中点であり，| #    »
AM| =

√
51
2
であるから

#»

b +
#»
c

2

2

= 51
4

| #»

b |2 + 2
#»

b · #»
c + | #»

c |2 = 51

#»

b · #»
c = 5より

| #»

b |2 + 2× 5 + | #»
c |2 = 51

∴ | #»

b |2 + | #»
c |2 = 41 …… 1⃝

これより

| #   »
BC|2 = | #»

c − #»

b |2

= | #»

b |2 − 2
#»

b · #»
c + | #»

c |2

= 41− 2× 5 (∵ 1⃝)

= 31

よって

| #    »
BC| =

√
31 ……（答）

である．


